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1. 1- When uranium (92-protons) sjects a beta particle. L i il Vg’:‘f: b(hg-92) fy e o1 1

| protons will be left there in the remaining nucleus. _-f?_,Lg 1y st 0(9:534 s 2
91 (D) 93 (C) - 90 (B) 89 (A)

2-  In computer technology “information” means: =. ] N AN AL 6 LS’.JL‘»?J%{ e
any data L{;iJ)’ (B) processed data &5 iwsy (A)
large data &fmls (D) raw data Li#6 (C)

8- The particles emitted from a hot cathode surface are  -f LU &b = & 35 /7 £y 21 -3
protons ').-'f.-{ (D) negative ions /Tké" (C) electrons #* (B) positive ions ;,3&;_: (A)

4 - The output of a two-input NOR gate is " | " when - L,ffi "M _'.é’:'J;-_f(NOR} Al beiwy -4

A=1 B=1 (D) A=0,B=1 (C) A=0, B=0 (B) A=1,B=0 (A)

5- The direction of magnetic lines of force around a 233740 eliifes /7 e Vo S AT s
current carrying conductor is found by - Qe St e 2
fleming left hand rule w98 AL & £ (B) lens taw w#6L A (A)

allofthese (Ui (D) right hand grip rule  Jr1 £ =3/ § A b (C)

6 - Under damped conditions (wet-environment) resistance u“ﬁ) J,de SLJl SUrlad -6

of human skin
increases <. {3'.5?@2 (B) reduces <. ::;‘fﬁ (ﬂ {A)
none of these d.jﬂ:ﬂ ! (D) does not change ..;_Jn uﬁ?uﬁiij:’f.«': (C)

7- The combined resistance of two identical resistors Eir s J;-;_}; Slind et g 9
connected in series is 8 {). Their combined resistance % ol e & 27 < 2, -« 80 o
in a parallel arrangement will be Knoh ¥

2Q (D) 12Q (¢ 4Q (B 8 (A)
8 - If two capacitors C1 and C» are combined in parallel, U & i J”Jﬁ Co 21 Cq )l s A« 8
their equivalent capacitance is found by - Jl? d/(:l”z/;f ¥ ;’;L/ Lj F
Ceq=C1XxCy ) Ceq ﬂ%*(—j; © Ceq=C+Cy g Cg =C1'*'é (A)

9- Index of refraction of air is | wis S, STAB S -9
1.31 (D) 1 (©) 1.52 (B) 1.33 (A)

(éf JJJ) -
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A beam of light passes from water into air with 0lia ;_ﬁgf.-! VK;:; Ve G& 2 (e il u(.;ﬁ;
incident angle greater than critical angle, the ray will be ()i J"ch.. L}ﬁ S («.:rﬁ' 224
absorbed b % i (A)

totally transmitted § st wsit, 4 (B)

partially reflected and partially transmitted dﬂ?__@ s ol w L (C)

totally reflected J PRy $ .ui'J; (D)

Which of the following is a method of energy transfer? 2‘.;1’)_/;}5;(&}.' S/ b e o J;j.;,uc«-
S bor Jii

all of these 7. (D) wave motion Sl (€) radiation ¢/i$4. (B) conduction J’ﬁf (A)
The speed of sound in air at room temperature 21 C Jiialidio] e ,;’»/;:’r’u b Sk Sim
and at one atmosphere of pressure is - C%n -

317 ms*1 (D) 346 ms-1 (C) 343 ms-1 (B) 331 ms1 (A)
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Note: Section I is compulsory, Attempt any Two (2) questions from Section II.

Section - I [Jil.b

2 - Write short answers to any FIVE (5) questions.

i- Define mechanical waves and electromagnetic waves.

ii - Define time period and frequency.

iii - What is meant by refraction of waves?

iv - Differentiate between musical sound and noise,
v~ Whatis meant by quality of sound?

vi-  Write down two uses of ultrasound.

vii- Define the critical angle.

viii- What is meant by defects of vision?

'3 ~ Write short answers to any FIVE (5) questions.

i- Define electric field intensity and write its unit.

il - Define volt.

iii - Define electric power and write down its formula,

iv- Whatis the difference between Direct Current (D.C)

and Alternating Current {A.C)?

v - Define electromotive force.

vi- Whatis meant by solencid?

vii - What is relay? Write down its use.

viii - Describe the working principle of A.C generator.

4 - Write short answers to any FIVE (5) questions.

1- Define nuclear transmutation.

- What is radio active tracer? Write down its application

in industry.
16

ii- A mtrogen nuclied N decays to become exygen nuclied by

emitling a beta particle. Show this process by an equation.

iv- How are electrons deflected by electric fielc_l?
v - Write down the use of logic gate.

vi- Wirite down the truth table of OR gate.

vii- What is meant by word processing and data managing?

“vili - What is difference between RAM and ROM memories?

AR

(2x5=10) ,q{,,r/’...u,vﬁ‘ﬁ_,my oYy e d/-2
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25 oLl At i B iy
ey Ve BLSTEY -y
e L HUd i
,é(h.;d/"‘u L,E:ﬁi Viﬁ;xj' - il
teslp Ve SBL e - viii
@x6=10) -Z ez Pty (5)gLe §F-3
fees SR
ANt 0V YIS
e AW ORI < B
L (AC) 2/ T (D.C) ek ity iy
Uk I
E WS e
e lfe Ey v
wéfdb;’f £ e ¢ (Relay) L, - vii
E ISP S L p A AC i
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Section - 1T (22

5 - (a) Define Simple Harmonic Motion (SHM). (4) ATy Y (SHM) u%v‘..fﬂ.fh){ (G L5
Prove that the motion of a mass attached Nen&udo Ll Lp el o
to @ spring is Simple Harmonic Motion (SHM) | =% dse (SHM) S S
(b) An image of a statue appears to be 11.5 ¢m behind (6) L -¢- 13.5¢cm J'E‘JJJ’ $op u’gfh{f (<)
convex mirror with focal length 13.5 cm, Find the NEemeE L. ,.81Jdemd, en
: distance from the statue to the mirror. B e S P Kﬁ-cr & dusy
6 - (a) Explain Ohm's law in detail. What are its limitations? (4) SowiLi & et S i L A () g
o Vv
(b) Three capacitors with capacitances of 3.0uF, 4.0uF (5) £ %5 5.0uF 4.0 pF,3.0uF /1 (L)
and 5.0kF are arranged in series combination to a Llbire SES Ve 3y fipv s
battery of 6V, where (1F =107 9 F) . Fing &g dind
a) The total capacitance of the series combination. (1pF=10" i F).&
b) The quantity of charge across each capagitor. E ﬁfd"*" S2ye (a
¢) The voltage across each capacitor. < JE"’? ¢Sl s (b
-éJ» AL :“*"-‘-.;5 s (c
7 - (a) Explain the working of different parts of oscilloscope. (4) AN ) o/l u*}f_;f‘!ﬁ.?,_,ﬁ,&-,; (@) -7

(b) Cobalt -60 is a radioactive element with half-life of 5.25 (5) -« Jv 525 5y §'60-201/ %054, ()
years. What fraction of the original sample wili be ieft > B 6 5 S8 60- St £ i 26
after 26 years? ‘.‘Jf_.tg Ly, J;
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L N s & S £ 2 Z_Lfidiy’/; ¢ QKQ‘L& _L,giqi_.: DsCcB fA-.‘;l;b?.‘f.r]gZ Jir s
Kol 12 0l S ».’:JJ:"J.J_.JCE /'fu.bg_l, L.//: S sty whia L fe L L S oo 3 S
1. 1- Which of the following method is used to transfer energy? .’#’L/y;‘/&)i A e SE S -1 -1
e b Jui

all of these (Ui, (D) wave motion /(s (C)  radiation ¢#i§fs (B)  conduction % (A)

2. Speed of sound in sea water is ' e I d TR Jl; Some -2
972 ms-1 (D) 1631 ms* (C) 1290 ms! (B) 1498{;‘ ms-1 (A)

3- During refraction of light its will not change -J}f L,d’ufi Syt & u”(,& J(ﬁ; -3
wave length ;@ga {D) frequency ﬁ,f} (C) speed 4ixr (B} diregtion =+ (A)

4- The type/types of spherical mirror is/are -t (U""f% r-j ) J,/, Lﬁ_/,:ﬂ -4
4 (D) : 8 (o) 2 (B) 1 (A)

5- One micro Farad is equal to ' o s PIAL -5
1108 F (D) 1x10°F (C) 1108 F (B) 1x108 F (A)

Sy £ /0 p P -6

positive ions )”’T;’:J:; (A)

6 - An electric current in conductor is due to flow of e
negative ions Tk (B)
free electrons #5457 (D) positive charges /b %74 (C)
SRV a0 8 -t S5V FD Y |
fam ® 17x107%Qm A
vie_ s tbard e, -8
small mass JLid (A)

7 - The specific resistance of metal iron is

1.69%x10°8Qm © 106x1078Qm (€) 9.8x1
8- The presence of a magnetic field can be detected by -
stationary positive charge 64; %3y fv (B)

magnetic compass dlgjm (D) stationary negative charge b _é:gu(b {C)

9. Equation of OR-operation is - bl JJ”",;T(OR} A -9

X=A.B (D) Yo Xa B X=A.B @) X=A+B (a)

10 - The cathode ray oscilloscope consists of ~ t_-é_«: L‘.Pj“_; ur”(’-l h;:&:!:‘:ra..; w10

main parts.

5 (D) 3 (B) 2 (A)

11-  The term e-mail stands for e Y JES -1
electronic majl <632 (B) emergency mail J’—’J‘.’;A’.J (A)
external fhail TS (D) extra mail 71241 (C)

12 - When a heavy nucleus splits jito two lighter nuclei, & b (c’? 9 éy‘iﬁ L V"-’j{e Sl Wit =1
the process would bl

absorb nuclear %ergy (frr - e d)f/'.“;:& (B) release nuclear energy J:f o Liﬂﬁ‘;& {(A)
fr - L] . - 3
absorb chemical gnergy Jn Ny &/H,P/z‘f (D} release chemical energy Jn oy ‘J.z!Jg'-'( (C)
/
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Aoy L ety (2) » e e Lo o ifie o)
Note: Section L is compulsory. Attempt any Two (2) questions from Section TI.
Section - I J# o

2 - Write short answers to any FIVE (5) questions. (2x5=10) -é{f.’@&lﬁ/‘?& = Uiy () é be J_.(_ 2
i- What is the difference between machenical waves and - g/ ey-B1T _@?, £ ol 54 .JQ?" i

electromagnetic waves?

ii- Provethat V=f2 V=fh S e i
iti- What is meant by damped oscillations? S e e A4 il
iv-  Define pitch. What is the relation between pitch e PU L AT SHInE 2 /06 -iv
and frequency?
© v - Define the term acoustic protection. -é._gf'(! J[ﬁf ;:Ef’ -v
vi- Calculate the intensity level of the faintest audible sound. gy u”!‘l! K50 ere v
vii - " Define power of lens and write down its unit. @ g g w8 A STny -vii
* viti- How farsightedness can be corrected? s TR s S viii
3 - Write short answers to any FIVE (5) questions. ~ (2x5= 10) -é;fauz/‘"é o Uy (5) ék = Jf— 3
i- Define the phenomenon of electrostatic induction. _:if‘_@/'"o/;,"fé S
ii - Write down some examples of applications of electrostatics £z J&lﬂ’f x ;/@:/-gr e d:u S (ke -
in our daily lives, S JL‘}“
iii - Define electromotive force (emf) cf the source. -2;’; ~...§3/7d, (emf) JJ;‘. ;’m,ig'i u’/Jm - 1
iv- Define conventional current. SR e
v- What is difference between conductors and insulators? SRA M I eGPV EP m
Give some examples of conductors and insulators. e
~vi- Define electromagnetic induction. LE A B0
vii- What is the function of a transformer? e KUV AR ovii
viii - Write down a note on relay. .-£¢J{ (Relay) &, - vini

4 - Write short answers to any FIVE (5) questions.  (2x5= 10) . -é{;&“ﬁjﬂééwf (5) é E Friv Jf— 4

i- Draw the symbol of OR gate. ek FEw S OR) T i
it - Define analogue electronics and digital electronics. _ér._g/""u(u’;f}giﬁj 2! u’f}?f uji!i'c,l - ii
iii - Write down the names of components of cathode ray _afr(t L ur® L (CRO) h?.,;’:{.’.-l;.ﬂ; W i
oscilloscope (CRO).
iv- What is meant by hardware and software? e Ve fddval ol -iv
© v- Write down any two advantages of e-mail. 2 itn e LK E
vi- Define isotopes. A AT i
vii- Define natural radio-activity. YN 37 (1EsJE  -vid
viii - What is meant by half life of radio-active element? ‘e sl Ve Sy S eyl -vidd

CAN)
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& - -9,
e 60/;,0'4"'” Section - II 95 .2

5 = (a) Whatis simple pendulum? Show that the motion of  (4) A7 Jﬂyfgg ol S EE ok T l_,"(';ff; e () g

a simple penduium is simple harmonic motion. . Jx Jf _fy’l,‘,};’
(b) An image of a statue appears to be 11.5 cm behind ~ (5) < Uie 13.5cm EE s Sap u‘»fi‘/..{l ()
convex mirror with focal length 13.5 cm. Find the bl cmé-‘ L., E-i"! Jc‘f‘ il il
distance from the statue to the mirror. & T Py V.*;"‘_{_ & JL:SJ;
g - (a) Describe the factors that affecting the resistance of (4) Lbix Jf,cf}‘i,; W J(zb))-’:‘ifﬁr (L) _g
a conductor (wire) and derive an expression. -ngj&f CRI J/J"“J' sl éuy :(;,f'r;"'
(b) Two charges repei each other with aforce of 0.1 N, (5)  wiuscz  ZEL5emen 2k » (L)
when they are 5 ¢m apart. Find the force between -t a"_.fd'; P u.»_:’ 0/0.1 N i/z../» _.j,"
the same charges, when they are 2 cm apart. ' 22 2?’;,»)-” ) J-vai’ul_m i, Zie o
wnL L L L2em
7 - (a) How does the house safety alarm work? (4) . L, t'f_rKC,)ufpllfﬁe’rb’/f () g
Expiain briefly. - 2ol
(b) Ashes from a campfire deep in a cave show carbon-14 (5) J'M—L-;;b’;_,ﬁ (Ashes) 41 Sy Lk Al ()
activity of only é‘ the activity of fresh wood. How long /‘JﬁJ -4 %Uﬁ é_-w o, d}‘faj-:* Qg,}’fl
ago was that campfire made? 2
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